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Y & @ = o X
ABAALUUITNNTINN 3.1 mmml,mmimmu

|A|, =ol +02 +.t =\/(28.5539)2 +(23.7864)° +...+(0.0000)° =1539.002

neil k=1, [A- A, = o2 + 07 +..+ 02 =723.6769, Relative change=7236.6769= 43.7993%
1539.002

nsil k=2, [A— A,|, =07 + 02 +...+ 0 =157.8841, Relative change=157.8841 = 10.2588%

1539.002

Ntk =3, |[A-A,| =0} +0l+0; =67.0308, Relative change= 67.0308 = 4.3555%
1539.002

nailk=4, [|[A- A, =0l +0; =12.9700, Relative change= 12,9700 = 0.8428%
1539.002

n9el k =5, ||A - A5||F = 110'62 =0, Relative change= 0 =0%
1539.002

n98 k=6, Relative change = 0%

nsm k=1 ANUALURLRIAMNANNUS 43.7993%
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LU | 1 2 3 4 5 6
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AN9NT 9.2

NANTTUNANANNARNL AR (r,) $2UINNTRAAILNIERAINUAAT k = 4

daAALTL 1 2 3 4 5 6
1 1.0000 | 0.6281 | -0.5803 | 0.3151 | -0.3986 | 0.2782
2 0.6281 | 1.0000 | -0.2271 | 0.5153 | -0.5875 | 0.5005
3 -0.5803 | 0.3151 | 1.0000 |-0.6217 | 0.7975 | -0.6082
4 0.3151 | 0.5153 | -0.6217 | 1.0000 | -0.8222 | 0.9992
5 -0.3986 | -0.5875 | 0.7975 | -0.8222 | 1.0000 | -0.8221
6 0.2782 | 0.5005 | -0.6082 | 0.9992 | -0.8221 | 1.0000
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WA 9.4

LL@WNLﬂJVﬁﬂsﬁ—Qﬁﬂﬂ’]iﬁ’]u"AmmqﬂﬂiZUQuﬂqﬁ‘LLﬂﬂﬂ"]LLUULaﬂQﬁﬂOWMuﬂﬂl’] k=2

(U ) = [05087][0.3437] (V,}" = [016030.3601 [0.4272]0.5532 [0.2532[0.5403
0.1226{0.0211 | 10.1301|}0.1524)0.604 |-0.3117/0.6317]-0.3144
0.5928-0 066
0286 j0.6234 (A, )= [339]6.48]1.27 [10.58|-1.49]10.42]
0.280 10.6231 05 [11g1.s 178 1.2 [1.73 ]

[0.4596]¢0. 5758 2.926.336.28 [|9.85 |3.29 [9.64
-0.62[0.68[12.45-0.1 |[11.43]-0.25
{2, }= [28:5539]0.0000 -0.62)[0.68][12.45][0.1 ][11.43][0.25]
0.0000 |[23.7864) 13.08|[5.87|[1.07 [96 |-1.42]9.45 |
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HANNIWIAIANNARIEARY () seudnadeAnuiunsiinavuns k = 2

faAALiL 1 2 3 4 5 6
1 1.0000 | 0.9848 | -0.7653 | 0.9954 | -0.8670 | 0.9962
2 0.9848 | 1.0000 | -0.6418 | 0.9969 | -0.7544 | 0.9962
3 -0.7653 | -0.6418 | 1.0000 | -0.7000 | 0.9876 | -0.7062
4 0.9954 | 0.9969 | -0.7000 | 1.0000 | -0.8035 | 1.0000
5 -0.8670 | -0.7544 | 0.9876 | -0.8035 | 1.0000 | -0.8087
6 0.9962 | 0.9962 | -0.7062 | 1.0000 | -0.8087 | 1.0000
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